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Mortran — More Fortran

Fortran
Mortran

EGH

ANSI FORTRANTY7
— mortran3.f or mortran3.for

Mortran3



Mortran3

X=1.0+XX; X=X+X*X;
YY=SQRT (X+5.6*X)+
X**2.9-ALOG(X);

(;)

Fortran

X=1.0+XX

X=X+X*X

YY=SQRT (X+5.6*X)+X**2.9-AL OG(X)



(")

. (%0Q0 mode
()
Mortran3 FORTRAN
" Example of COMMENT” C Exampleof COMMENT
X=1.0+XX " XX isinput data”; X=X+X*X; C XXisinput data
YY=SQRT(X+5.6*X)+ " Continueto next line” X=1.0+XX
X**2.9-Alog(X); X=X+X*X

C Continueto next line

YY=SQRT (X+5.6*X)+X**2.9-AL OG(X)



DO-loop

e DO-loop DOI=JK,N [............ ]
— CONTINUE
- JK,N FORTRAN DO-loop

. DO-loop
- I ]



Mortran3
DO [=1,10[DO J=1,20 [DO K=1.5[A(I,J,K)=1*J*K;]]]
FORTRAN
DO 111=1,10
DO 21J=1,20

DO 31K=15

A(l,J,K)=1*J*K
31 CONTINUE
32 CONTINUE
21 CONTINUE
22 CONTINUE
11 CONTINUE
12 CONTINUE



|F Statement

|F statement IFel.......... ]
_ s statement
- 0

IFALT.B[C=D; E=F;] G=H; or IF(A.LT.B) [C=D; E=F;] G=H;
|F-EL SE statement

IFel............ ;] ELSE[......ccoii ]

“THEN"  “ENDIF’
|F-EL SEIF statement

IFp]...;] ELSEIFQ]..........] ELSEIF T [......... ] ELSE[.....]]

“p “



Mortran3
IF ALLT.B1[C=D1,; E=F1;]

IF(ALLT.B1) [C=DL1]
EL SEIF(AL.EQ.0.0) [E=F1;]
EL SE [C=0.0;]

FORTRAN

IF (ALLT.B1) THEN
C=D1
E=F1

END IF

IF (ALLT.B1)) THEN
Cc=D1

ELSE IF ((A1.EQ.0.0)) THEN
E=F1

ELSE
C=0.0

END IF



FORTRAN [READ(5, WRITE(6)]

INPUT I-olist; (format list); READ(5,

: INPUT NCASES, (16);
OUTPUT I-olist; (format list); WRITE(6,

: OUTPUT IXX; ( IXXST=",112);

INPUT OUTPUT



Mortran3

INPUT XX;(F10.3)

FORTRAN
READ(5,10) XX

10 FORMAT(F10.3)

Mortran3
OUTPUT X\Y;
( X=",G15.5, and YY=",G15.5);
FORTRAN
WRITE(6,20)
20 FORMAT( X=",G15.5,’ and YY=",G15.5)



UNIT

UNIT
READ(L:FORMATZ:) I-olist; :FORMAT1:FORMAT (format list):
WRITE(7,;FORMAT7:) I-0list; :FORMAT7:FORMAT (format list);

FORMAT1:;, :FORMATY: |abel
FORTRAN

READ(5, WRITE(S,



Multiple Assignment

p,g.ry........., z/=€e;

Mortran3 FORTRAN
/1, A(1,K), J/I=SQRT (X/2.0); |=SQRT (X/2.0)
A(l,K)=SQRT (X/2.0)
J=SQRT(X/2.0)
e Multiple assignmen



L abel

|abel

L abel

|abel

:USER-PHOTON-DISCARD.:.......;

|abel

FORTRAN



Operator

» relationa operators FORTRAN
LT., .EQ,,
<, <:’ :<, =, ~:, :>1>:’ >
* logical operators , AND., .OR.
&, |, -
. Statement FORTRAN

IF(A>B & C>D) or IF(A.GT.B. AND.C.GT.D) OK
|IF(A>B.AND.C>D) isnot OK!



Mortran, FORTRAN

e % 1

o |

e OoE: Mortran

e 0oL or!LIST; : Mortran

e 06N or INOLIST;: Mortran

e Oolnor 'INDENT Mn;: Mortran n-
e 0o FORTRAN %F %M FORTRAN statement
Mortran statement
%F : Mortran3 %F statement
%F : statement

e 0OoM: Mortran
e |INDENT Fn;:FORTRAN n-



Mortran, FORTRAN

e ICOMMENTS:: Mortran FORTRAN
e IUNCOMMENTS:: Mortran FORTRAN
 O6AN: Mortran FORTRAN
— n=0: FORTRAN INOANNOTATE;
— n=1:2 80 IANNOTATE;
— n=2:40 80
e %00Qn: Mortran (default is 0)
— n=0:; K

— n=1:



Mortran

e Statement ,
— Statement e 2 Statement

statement Mortran
FORTRAN

Mortran
X=X+1 Y=Y+1

Y=Y+1;

FORTRAN
X=X+1 Y=Y+1

*MISPLACEDSYMBOL (=) *  ?



Mortran

- [ ] Mortran
(mortjob.mit[PC], mortjob.listfUnix] )

0 DOI=1,100]

1 DO J=1,3]

2 Z=Z+*J;

2 ]

1  STOP;

Nest Ievel/'1 =

END OF MORTRAN INPUT
UNCLOSED BLOCKS

. %E
o mortjob.mit( mortjob.list)  %E

y 0 ] - ) (+



Mortran

* )

Mortran FORTRAN

0 DOI=1,100] DO 111=1,100

1 DO J=13] DO 21J=1,3

2 IF(I.LT.10 [ IF(I.LT.10

3 Z=7Z+1*7J; ] * INSUFFICIENT PARENTHESES* ?
2 11 * INVALID STATEMENT * ?
0 STOP; Z=Z+I*]

21 CONTINUE
22 CONTINUE
11 CONTINUE



Mortran

¢ %01

Indicatethat
comment is
continuing.

0
0
/” 0O IFALLT.B1[C=D1,; E=F1;]
"0
"0
"0
0
0

(mortjob.mit[PC], mortjob.listfUnix])

Mortran

"Comment must be closed

IF(ALLT.B2) [C=D2]]
EL SEIF(A1.EQ.0.0) [E=F2;]
EL SE [C=0.0;]
STOP;
" 0 END;
END OF MORTRAN INPUT
UNCLOSED COMMENT
83 PERCENT RULE CAPACITY REMASINIG
1 MORTRAN ERRO(S)



